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int ticket_limit;
nt now_limit;
my_ticket;
priority;
worktime;
't wait_time ;
t start_time;
t end_time;
t last_start_time;
t proc* nextproc;

found:
p->pid = allocpid();
p->interval = 9;
p->InHandler = 0;
p->ticks = 9;
p->handler = 0;

p->ticket_limit =
p->now_limit = ORIGII
p->my_ticket = @;
p->priority = 9;
p->worktime = 9;
p->wait_time = @;

p->end_time = 9;
p->nextproc = @;
insert_node at tail(e, p);

p->start_time = ticks;
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uct proc_linklist

proc *header;

ct proc *tail;




2. MER AR L

spinlock link list lock
3. ¥lisi B

Q; 1< 6; i++)

proc_linklist list[i].header = ©;

proc_linklist_list[i].tail = 9;

void insert_node_at_tail(int offset, struct proc *p)

{

if (offset < @ || offset >= 6)

{
printf("Invalid offset!\n");

irn;

}

acquire(&link_list lock);
st t proc_linklist *list = &proc_linklist_list[offset];
(list->header == 0)
{
list->header = p;
1HstEE>tanlS=—Npf

list->tail->nextproc = p;
list->tail = p;
}
p->nextproc = 0;
release(&link_list_lock);




5. LR R A RIBEREN—MERZ LR BE S —MERT

d move_proc_between_lists( src_offset, int dest_offset, st t proc *p)

{
if (src_offset < @ || src_offset >= 6 || dest _offset < @ || dest_offset >= 6)

{
printf("Invalid offset!\n");
return;
}
acquire(&link_list lock);
proc_linklist *src_list = &proc_linklist list[src_offset];
- proc_linklist *dest_list = &proc_linklist list[dest_offset];

C proc *prev = 0;
proc *curr = src_list->header;
curr != 0 && curr !=
p

prev curr;
CURE cur‘r‘->nextpr‘oc;

iEN(CURRR==N0))
i (leurr == &),

{

printf("Proc not found in source list!\n");
release(&link_list_lock);

(prev == 9)

src_list->header = curr->nextproc;

prev->nextproc = curr->nextproc;

f (curr == src_list->tail)

¥
{

src_list->tail = prev;

curr->nextproc



dest_list->header = curr;
dest_list->tail = curr;

dest list->tail->nextproc = curr;
dest list->tail = curr;

}
release(&link list lock);

6B M B B B, AFTFXDMIEESD I B UKW

void move_to_trash(int src_offset, sti

{

if (src_offset < @ || src_offset >= 6)

{

printf("Invalid offset!\n");

N
y

t proc_linklist *src_list = &proc_linklist list[src_offset];
t proc_linklist *dest list = &proc_linklist list[5];

acquire(&link _list lock);

t proc *prev = @;
proc *curr = src_list->header;
(curr !'= @ && curr != p)

prev curr;
curr cur‘r—>nextpr‘oc;

N (CURE




printf("Proc not found in source list!\n");
release(&link list lock);

f (prev == 0)

}
{

src_list->header = curr->nextproc;

prev->nextproc = curr->nextproc;
if (curr == src list->tail)
src_list->tail = prev,;

}

dest list->header = curr;

release(&link list lock);

7. xv6 RYERE R BIE R UM iR B E 2

int i = @; i < 5; i++

- proc_linklist *1list = &proc_linklist list[i];
(list->header == 9)

nue;
ct proc *current = list->header;

> (current != 0)

{

p = current;
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8. Xv6 BY trap £ 5 ,7E which_dev=2 H

int sign = @;
p-> my_ticket++;

p-> my_ticket == p-> now_limit

if (p-> now_limit != p-> ticket_limit)

p-> my_ ticket = 0;
p-> priority+=1;
p-> now_limit *=2;

move proc_between lists(p-> priority-1,p-> priority,p);
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9. NI EFHIZRVIRTSHIR
uint64
sys_show_priority(void)

ruct proc *p = myproc();

printf("Limit: %d Ticket: %d Priority: %d\n",
p->now_limit,p->my ticket, p->priority);
oturn 0;
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sys_change priority(void
{
int dest_offset;
int(0, &dest offset);
ct proc *p = myproc();
src_offset = p->priority;

move_proc_between lists(src offset. dest offset, p);
int dest_offset

p->now_limit = 1 << (dest_offset + 2);

p->my_ticket = 0;

p->priority = dest_offset;

11. ARMEFFERERE

uint64
sys_show_time ()

il

printf("ticket time now is %d\n",ticks);
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